ID PROPOSAL FORM (FORMAT B)
ype of print in this box the unpleta name of the didder:
id #007-KK06
itle: Sprinklers I awa and Turf



Verified by:

		Title: Sprinklers, Lawn and Turf											
·		Buyer: G. Jackson			Da	de Broward S	Supply Co.	Elan L	awn & Landsc	ape Services	ı	lorida Irrigation	n Supply
ITEM	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model
		VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE YEAR											
		Items 1 through 8 will be award on a total low bid basis. Vendor must bid all items to be considered for award.											
1	559-0027	Nozzle, sprinkler, plastic, 360 degree, full circle, 15' radius, 30 PSI. Approved Brand: Rainbird 15-F, 1800 series, no substitute.	76	Each	\$0.79	\$60.04	Rainbird 15F	\$1.21	\$91.96	R/B 15F	\$0.79	\$60.04	15FRB
2	559-0108	Rotor, sprinkler, plastic, full circle, 5.0, Approved Brand: Rainbird 5004-FC-8, no substitute.	66	Each	\$5.59	\$368.94	Rainbird 5004FC	\$10.15	\$669.90	R/B 5004 FC/5000 RC	\$5.58	\$368.28	5004 FC
3	559-0180	Spray, sprinkler, 4" stem, pop-up plastic, without nozzle, Approved Brand: Rainbird 1804, no substitute.	127	Each	\$1.19	\$151.13	Rainbird 1804	\$1.95	\$247.65	R/B 1804R	\$1.15	\$146.05	1804
4	559-1422	Nozzle, sprinkler, plastic, 90 degree, quarter circle, 15' radius, 30 PSI, Approved Brand: Rainbird 15-Q, 1800 series, no substitute.	75	Each	\$0.79	\$59.25	Rainbird 15Q	\$1.21	\$90.75	R/B 15Q	\$0.79	\$59.25	15Q RB
5	559-1431	Nozzle, sprinkler, plastic, 180 degree, half circle, 15' radius, 30 PSI, Approved Brand: Rainbird 15-H, 1800 series, no substitute.	424	Each	\$0.79	\$334.96	Rainbird 15H	\$1.21	\$513.04	R/B 15H	\$0.79	\$334.96	15HRB
6	559-1465	Spray, sprinkler, 3" stem, pop up, plastic, without nozzle, Approved Brand: Rainbird 1803, no substitute.	103	Each	\$1.71	\$176.13	Rainbird 1803	\$3.14	\$323.42	R/B 1803R	\$1.65	\$169.95	1803
7	559-1481	Rotor, sprinkler, plastic, half circle, 180 degree, with #12 nozzle, Approved Brand: Rainbird 6504, Falcon series, no substitute.	444	Each	\$18.95	\$8,413.80	Rainbird F4PC	\$28.75	\$12,765.00	R/B F4PC12	\$18.55	\$8,236.20	F4PC1
8	559-1511	Rotor, sprinkler, plastic, full circle, 360 degrees, with #12 nozzle, Approved Brand: Rainbird 6504, Falcon series, no substitute.	331	Each	\$18.95	\$6,272.45	Rainbird F4FC	\$28.75	\$9,516.25	R/B F4FC12	\$18.55	\$6,140.05	F4FC1
		TOTAL LOW				\$15,836.70			\$24,217.97			\$15,514.78	

Type or print in this box' 4	he	٠.	٠,٠		٠.	٠.	∹.	÷	•	٠.	-:	٠.	•		÷	Ż	÷		•	ď	Ţ	7
complete hame of the Bletd	r:	ं	::	ं	Ċ	Ŀ	::	٠:	्	ं		Ċ	 :	Ċ	÷		Ė,	Ċ	:	÷		

		Title: Sprinklers, Lawn and Turf											
-	1	Buyer: G. Jackson				Hector T	urf	J	John Deere Lar	ndscapes		Lane Supply	Services
ITEN	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode
		VENDOR SHALL INDICATE MANUFACTURER'S WARRANTY, IF GREATER THAN ONE YEAR											
		Items 1 through 8 will be award on a total low bid basis. Vendor must bid all items to be considered for award.	•										
1	559-0027	Nozzle, sprinkler, plastic, 360 degree, full circle, 15' radius, 30 PSI. Approved Brand: Rainbird 15-F, 1800 series, no substitute.	76	Each	NO BID			\$0.77	\$58.52	R15F	\$1.02	\$77.52	AS SPECIFIED
2	559-0108	Rotor, sprinkler, plastic, full circle, 5.0, Approved Brand: Rainbird 5004-FC-8, no substitute.	66	Each	NO BID			\$5.59	\$368.94	5004-FC	\$6.92	\$456,72	AS SPECIFIED
3	559-0180	Spray, sprinkler, 4" stem, pop-up plastic, without nozzle, Approved Brand: Rainbird 1804, no substitute.	127	Each	NO BID			\$1.16	\$147.32	1804P	\$1.70	\$215.90	AS SPECIFIED
4	559-1422	Nozzle, sprinkler, plastic, 90 degree, quarter circle, 15' radius, 30 PSI, Approved Brand: Rainbird 15-Q, 1800 series, no substitute.	75	Each	NO BID			\$0.77	\$57.75	R15Q	\$1.02	\$76.50	AS SPECIFIED
5	559-1431	Nozzle, sprinkler, plastic, 180 degree, half circle, 15' radius, 30 PSI, Approved Brand: Rainbird 15-H, 1800 series, no substitute.	424	Each	NO BID			\$0.77	\$326.48	R15H	\$1.02	\$432.48	AS SPECIFIED
6	559-1465	Spray, sprinkler, 3" stem, pop up, plastic, without nozzle, Approved Brand: Rainbird 1803, no substitute.	103	Each	NO BID			\$1.65	\$169.95	1803P	\$1.71	\$176.13	AS SPECIFIED
7	559-1481	Rotor, sprinkler, plastic, half circle, 180 degree, with #12 nozzle, Approved Brand: Rainbird 6504, Falcon series, no substitute.	444	Each	NO BID			\$18,15	\$8,058.60	F4-PC	\$24.90	\$11,055.60	AS SPECIFIED
8	559-1511	Rotor, sprinkler, plastic, full circle, 360 degrees, with #12 nozzle, Approved Brand: Rainbird 6504, Falcon series, no substitute.	331	Each	NO BID			\$18.15	\$6,007.65	F4-FC	\$24.90	\$8,241.90	AS SPECIFIED
		TOTAL LOW					ĺ		\$15,195.21			\$20,732.75	

The School Board of Miami-Dade County, Florida Bld #007-KK06

Florida Irrigation Supply

Manuf & Model

TR50P

15F

570Z4P

150

15H

570Z3P

473-00

463-01

7642

7641

Total Price

\$7.789.12

\$583.68

\$1,661.52

\$695.04

\$1,447.68

\$1,440.00

\$301.47

\$207.61

\$14,126.12

\$516.42

\$361.80

\$878.22

Unit Price

\$9.64

\$0.96

\$1.29

\$0.96

\$0.96

\$1.60

\$23.19

\$15.97

\$28.69

\$24.12

Toro

15QNZWSCN

Toro

15HNZWSCN

Toro 570Z 3P

Toro U/3-00

Toro 463-01

Nelson 7542

Nelson 7641

Sprinklers, Lawn and Turf BID PROPOSAL FORM (FORMAT B) Type or print la this box the complete hame of the blidder: Bid #007-KK06 Prepared by: Verified by: Title: Sprinklers, Lawn and Turf Dade Broward Supply Co. Elan Lawn & Landscape Services Buver: G. Jackson **ESTIMATED** ITEM DCPS# DESCRIPTION OF ITEM UNIT Unit Price Total Price Manuf & Model Unit Price Total Price Manuf & Model QUANTITY Items 9 through 16 will be awarded on a total low bid basis. Vendor must bid all items to be considered for award. Rotor, sprinkler, adj ARC, part circle, with 6.0 nozzle, 9 559-1279 808 \$9.85 \$7,958.80 Each Toro TR50P \$16.34 \$13,202.72 Toro RRSOP Approved Brand: Toro TR50P series, no substitute. Nozzle, sprinkler, 360 degree, full circle, Approved Brand: Toro 15F-NZ-10 559-0205 608 Each \$0.98 \$595.84 Toro 89-1764 \$1.81 \$1,100.48 Toro 15F-F 570 series, part # 89-1764, no substitute. WSCN Spray, sprinkler, 4" stem, pop-up, without nozzle, Approved 11 559-0264 1288 \$1.33 Each \$1,713.04 Toro 89-3978 \$2.24 Toro 570Z-4P \$2,885,12 Brand: Toro 570Z-4P, part # 89-3978, no substitute.

724

1.508

900

13

13

18

15

Each

Each

Each

Each

Each

Each

Each

\$0.98

\$0.98

\$1.65

\$24.00

\$16.52

\$35.22

\$25.18

\$709.52

\$1,477.84

\$1,485,00

\$312.00

\$214.76

\$14,466.80

\$633.96

\$377.70

\$1,011.66

Toro 89-1769

Toro 89-1767

Toro 89-3977

Toro 075-SLSC

Toro 075-SLK

Signiture

Control Sys

7642 Signiture

Control Sys

7641

\$1.81

\$1.81

\$2.61

\$57.37

\$53.62

\$44.92

\$37.78

\$1,310.44

\$2,729,48

\$2,349.00

\$745.81

\$697.06

\$25,020,11

\$808.56

\$566.70

\$1,375.26

Nozzle, sprinkler, 90 degrees, guarter circle - Approved Brand:

Toro 15Q-NZ, 570 series, part #89-1769, no substitute.

Nozzle, sprinkler, 180 degrees, Approved Brand: Toro 15H,

570 series, part #89-1767, no substitute.

Spray, sprinkler, 3" stem, pop up plastic, without nozzie,

Approved Brand: Toro 570Z-3P, Z series, part # 89-3977, no

substitute. Valve, quick coupler, Approved Brand: Toro 473-00, no

substitute. Key, quick coupler, Approved Brand: Toro 463-01, no

substitute (for above valve) TOTAL LOW

Items 17 and 18 will be awarded on a total low bid basis. Both items must be compatible and made by the same manufacturer. Vendor must bid both items to be considered for award.

Valve, quick coulper, Approved Brand: Nelson 7642, no

substitute.

Key, quick coupler, Approved Brand: Nelson 7641, no

TOTAL LOW

substitute (for above valve).

12 559-0299

559-0302

559-0311

559-0141

559-0159

559-0035

559-0051

13

15

17

18

BID PROPOSAL FORM (FORMAT B)

Type of print in this box the chimpten hambed the Bidder:

Bid #007-KK06

Title: Sprinklers, Lawn and Turf

		Title: Sprinklers, Lawn and Turf											
		Buyer: G. Jackson				Hector T	urf	Je	ohn Deere Lan	dscapes	Ĺ	ane Supply S	Services
ITEM	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Mode
-		Items 9 through 16 will be awarded on a total low bld basis. Vendor must bid all Items to be considered for award.											
9	559-1279	Rotor, sprinkler, adj ARC, part circle, with 6.0 nozzle, Approved Brand: Toro TR50P series, no substitute.	808	Each	\$11.31	\$9,138.48	Toro TR50P	\$9.65	\$7,797.20	TR50P	\$12.13	\$9,801.04	AS SPECIFIED
10	559-0205	Nozzle, sprinkler, 360 degree, full circle, Approved Brand: Toro 15F-F 570 series, part # 89-1764, no substitute.	608	Each	\$1.13	\$687.04	Toro 89-1764	\$0.96	\$583.68	T15F	\$1.35	\$820.80	AS SPECIFIED
11	559-0264	Spray, sprinkler, 4" stern, pop-up, without nozzle, Approved Brand: Toro 570Z-4P, part # 89-3978, no substitute.	1288	Each	\$1.81	\$2,331.28	Toro 89-3978	\$1.29	\$1,661.52	5707-4P	\$1.65	\$2,125.20	AS SPECIFIED
12	559-0299	Nozzle, sprinkler, 90 degrees, quarter circle - Approved Brand: Toro 15Q-NZ, 570 series, part # 89-1769, no substitute.	724	Each	\$1.13	\$818.12	Toro 89=1769	\$0.96	\$695.04	T15Q	\$1.29	\$933.96	AS SPECIFIED
13	559-0302	Nozzle, sprinkler, 180 degrees, Approved Brand: Toro 15H, 570 series, part # 89-1767, no substitute.	1,508	Each	\$1.13	\$1,704.04	Toro 89-1767	\$0.96	\$1,447.68	T15H	\$1.29	\$1,945.32	AS SPECIFIED
14,	559-0311	Spray, sprinkler, 3" stem, pop up plastic, without nozzle, Approved Brand: Toro 570Z-3P, Z series, part # 89-3977, no substitute.	900	Each	\$1.89	\$1,701.00	Toro 89-3977	\$1.60	\$1,440.00	5707-3P	\$2.10	\$1,890.00	AS SPECIFIED
15	559-0141	Valve, quick coupler, Approved Brand: Toro 473-00, no substitute.	13	Each	\$31.25	\$406.25	Toro 473-00	\$23.25	\$302.25	075-SLSC	\$25.74	\$334.62	AS SPECIFIED
16	559-0159	Key, quick coupler, Approved Brand: Toro 463-01, no substitute (for above valve)	13	Each	\$21.90	\$284.70	Toro 463-01	\$15.99	\$207.87	075-SLK	\$18.15	\$235,95	AS SPECIFIED
		TOTAL LOW				\$17,070.91			\$14,135.24			\$18,086.89	
		Items 17 and 18 will be awarded on a total low bid basis. Both Items must be compatible and made by the same manufacturer. Vendor must bid both Items to be considered for award.											
17	559-0035	Valve, quick coulper, Approved Brand: Nelson 7642, no substitute.	18	Each	NO BID			\$28.69	\$516.42	7642 QCV	\$39.79	\$716.22	AS SPECIFIED
18	559-0051	Key, quick coupler, Approved Brand: Nelson 7641, no substitute (for above valve).	15	Each	NO BID			\$24.15	\$362.25	7641P	\$28.50	\$427.50	AS SPECIFIED
		TOTAL LOW							\$878.67			\$1,143.72	

BID PROPOSAL FORM (FORMAT B)

Type or print in this ber, the complete harme of the Bidder:

Bid #007-KK06 Prepared by: Verified by:

			4)		Prepared	Uy.		Verified b	у.				
	•	Title: Sprinklers, Lawn and Turf											
		Buyer: G. Jackson			Di	ade Broward 5	Supply Co.	Elan	Lawn & Lands	scape Services		Florida Irrigation	n Supply
ITEM	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	Unit Price	Total Price	Manuf & Mode	Unit Price	e Total Price	Manuf & Model	Unit Pric	e Total Price	Manuf & Mode
		Items 19 through 29 will be awarded on a total low bid basis. Vendor must bid all Items to be considered for award.											
19		Nozzle, sprinkler, plastic, strip pattern, 4 x 30', 30 PSI. Approved Brand: Rainbird 15CTS, 1800 series. no substitute.	50	Each	\$0.79	\$39.50	Rainbird 15CST	\$1.21	\$60.50	R/B 15CST	\$0.79	\$39.50	15 CST
20		Nozzle, sprinkler, plastic, rotary, 180 degree. Approved Brand: Rainbird R17-24H, 1800 series. no substitute.	30	Each	\$2.54	\$76.20	Rainbird R1724H	\$3.98	\$119.40	R/B R1724H	\$2.44	\$73.20	R17-24H
21		Nozzle, sprinkler, plastic, rotary, 90 degree. Approved Brand: Ralnbird R17-24Q, 1800 series. no substitute.	30	Each	\$2.54	\$76.20	Rainbird R1724Q	\$3.98	\$119.40	R/B R1724Q	\$2.44	\$73.20	R17-24Q
22		Station, controller, expandable 8 zone, ESP LX commercial exterior. Approved Brand: Rainbird ESP LXM. no substitute.	10	Each	\$172.00	\$1,720.00	Rainbird ESPLXM	\$259.24	\$2,592.40	R/B ES PLXM	\$165.45	\$1,654.50	ESPLXM
23		Statlon, module, controller, expandable plug in 8 zone module, ESP LX commercial. Approved Brand: Rainbird ESP LXMSM8. no substitute.	20	Each	\$62.61	\$1,252.20	Rainbird ESPLXMSM8	\$93.94	\$1,878.80	R/B ESPLXMSM8	\$59.99	\$1,199.80	ESPLXM-SM8
24		DTC cartridge, controller, IQ communication cartidge, ESP LX commercial. Approved Brand: Rainbird U-DTC-LXM-PR. no substitute.	10	Each	\$401.40	\$4,014.00	Rainbird UDTCLXMPR	\$620.55	\$6,205.50	R/B U DTC-LXM PR	\$375.00	\$3,750.00	U-DTC-LXMPR
25		Rotors, swing joint, flexible 3/4" PVC connection with pressure regulation, commercial. Approved Brand: Rainbird TSJ-075- PRS. no substitute.	30	Each	\$21.42	\$642.60	Rainbird TSJ075PRS	\$28.71	\$861.30	R/B TSJ075PRS	\$18.33	\$549.90	TSJ-075-PRS
26		Rotors, swing joint, flexible 1* PVC connection with pressure regulation, commercial. Approved Brand: Rainbird TSJ-100-PRS. no substitute.	90	Each	\$23.55	\$2,119.50	Rainbird TSJ100PRS	\$31.52	\$2,836.80	R/B TSJ100PRS	\$22.45	\$2,020.50	TSJ100PRS
7		Automatic, valves, plastic 2* peb with solenoid, commercial. Approved Brand: Rainbird 200-PEB. no substitute.	15	Each	\$85.17	\$1,277.55	Rainbird 200PEB	\$127.77	\$1,916.55	R/B 200 PEB	\$81.59	\$1,223.85	200PEB
8		Automatic, valves, plastic/brass hybrid 3" BPE with solenoid, commercial. Approved Brand: Rainbird 300-BPE. no substitute.	12	Each	\$186.10	\$2,233.20	Rainbird 300BPE	\$279.16	\$3,349.92	R/B 300 BPE	\$178.27	\$2,139.24	300BPE
9		Boxes, valves, plastic rectangular 21.8 x 16.6 x 12.0, with green lid marked irrigation, commercial. Approved Brand: Rainbird VB-STD-L. no substitute.	30	Each	\$17.61	\$528.30	Rainbird VBSTD	\$8.01	\$240.30	R/B VBST DL	\$17.03	\$510.90	VB-STD
		TOTAL LOW				\$13,979.25			\$20,180.87			\$13,234.59	

BID PROPOSAL FORM (FORMAT B)

Type of print in this box' the complete hame of the Bidder?

Bid #007-KK06

Title: Sprinklers, Lawn and Turf

		Buyer: G. Jackson				Hector T	urf	.	John Deere La	ndscapes		Lane Supply	Services
ІТЕМ	DCPS#	DESCRIPTION OF ITEM	ESTIMATED QUANTITY	UNIT	Unit Price	Total Price	Manuf & Model	Unit Price	Total Price	Manuf & Model	Unit Price	Total Pric	Manuf & Model
		Items 19 through 29 will be awarded on a total low bid basis. Vendor must bid all items to be considered for award											
19		Nozzle, sprinkler, plastic, strip pattern, 4 x 30', 30 PSI. Approved Brand: Rainbird 15CTS, 1800 series. no substitute.	50	Each	NO BID			\$0.77	\$38.50	R15CST	\$1.02	\$51.00	AS SPECIFIED
20		Nozzle, sprinkler, plastic, rotary, 180 degree. Approved Brand: Rainbird R17-24H, 1800 series. no substitute.	30	Each	NO BID			\$2.45	\$73.50	R17-24H	\$2.98	\$89.40	AS SPECIFIED
21		Nozzle, sprinkler, plastic, rotary, 90 degree. Approved Brand: Rainbird R17-24Q, 1800 series. no substitute.	30	Each	NO BID		19-7-1-10-2	\$2.45	\$73.50	R17-24Q	\$2.98	\$89.40	AS SPECIFIED
22		Station, controller, expandable 8 zone, ESP LX commercial exterior. Approved Brand: Rainbird ESP LXM. no substitute.	10	Each	NO BID			\$166.50	\$1,665.00	ESPLXM	\$197.52	\$1,975.20	AS SPECIFIED
23		Station, module, controller, expandable plug in 8 zone module, ESP LX commercial. Approved Brand: Rainbird ESP LXMSM8. no substitute.	20	Each	NO BID			\$59.99	\$1,199.80	ESPLXMSM8	\$71.58	\$1,431.60	AS SPECIFIED
24		DTC cartridge, controller, IQ communication cartidge, ESP LX commercial. Approved Brand: Rainbird U-DTC-LXM-PR. no substitute.	10	Each	NO BID			\$415.00	\$4,150.00	V-DTC-LXM-PR	\$560.81	\$5,608.10	AS SPECIFIED
25		Rotors, swing Joint, flexible 3/4" PVC connection with pressure regulation, commercial. Approved Brand: Rainbird TSJ-075-PRS. no substitute.	30	Each	NO BID			\$18.40	\$552.00	TSJ075PRS	\$21.62	\$648.60	AS SPECIFIED
26		Rotors, swing joint, flexible 1* PVC connection with pressure regulation, commercial. Approved Brand: Rainbird TSJ-100-PRS. no substitute.	90	Each	NO BID			\$20.25	\$1,822.50	TSJ100PRS	\$25.80	\$2,322.00	AS SPECIFIED
27		Automatic, valves, plastic 2* peb with solenoid, commercial. Approved Brand: Rainbird 200-PEB. no substitute.	15	Each	NO BID			\$81.75	\$1,226.25	200PEB	\$104.08	\$1,561.20	AS SPECIFIED
28		Automatic, valves, plastic/brass hybrid 3" BPE with solenoid, commercial. Approved Brand: Rainbird 300-BPE. no substitute.	12	Each	NO BID			\$178.50	\$2,142.00	300BPE	\$282.92	\$3,395.04	AS SPECIFIED
29		Boxes, valves, plastic rectangular 21.8 x 16.6 x 12.0, with green lid marked Irrigation, commercial. Approved Brand: Rainbird VB-STD-L. no substitute.	30	Each	NO BID			\$5.13	\$153.90	VB-STD-L	\$16.40	\$492.00	AS SPECIFIED
		TOTAL LOW							\$13,096.95		3	17,663.54	Transcension and the second